Land-Sea Carbon Cycle was _ _
Atmospheric CO2 concentration was 280 ppm

In Balance
prelndustrlally CO2 outgassing rate (OG)
was greater than dissolution rate (DS)
Rain A by 0.8 Gt /yr —800 M tonnes /year.
v outgassing DS
' OG
Limestone I‘iver-ﬂOW
CaCO3 Ca2+ and 9.8 Gt lyr
(@Hcos ... .. o
- Air-Water Interf
S ey
weathering — WT co
carrying atmospheric CO2 content 2 CO2
of 800 M tonnes /year — 0.8 Gt /yr free dissolution
dissolved (DS)

As opposed to

Refers to the Surface Ocean only, Wate r sequestered away Free

the top few hundred meters, in which inside another ion CO2
a molecule has a reasonable probability
of migrating up to the air-water interface.

Figure 2

Earth's natural weathering process was balanced by
the ocean's net outgassing of CO2 during preindustrial times.
Both values were 0.8 Gt /yr. [OG-DS = 9.8-9 = 0.8 Gi]
The land-sea carbon system was in balance.



